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QUESTION 1

What mechanism allows routes to be shared between customers in different VPRNs? 

A. The routes to be shared are identified by common route targets 

B. The routes to be shared are identified by common route distinguishers 

C. The routes to be shared are identified by common AS numbers 

D. The routes to be shared are identified by common VPN labels 

Correct Answer: A 

 

QUESTION 2

Where are VPN-IPv4 addresses used in a VPRN? 

A. In the routing updates exchanged from CE to PE 

B. In the routing updates exchanged from PE to PE 

C. In the routing updates exchanged from P to PE 

D. In customer packets as they traverse the provider core 

E. In all route tables of the VPRN control plane 

Correct Answer: B 

 

QUESTION 3

Click the exhibit. 
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Which of the following best describes the output? 

A. The AS-Path is not present because a policy is configured on PE2 to set it to null. 

B. The AS-Path is not present because a policy is configured on CE1 to set it to null. 

C. The AS-Path is not present because a policy is configured on PE1 to set it to null. 

D. The AS-Path is not present because VPN-IPv4 routes do not propagate the IPv4 AS-Path BGP attribute. 

Correct Answer: C 

 

QUESTION 4

Why would a selective export policy be applied to a customer VPRN service? (Choose three) 

A. To limit the number of routes advertised from a customer site 

B. To limit the number of routes learned from other customer sites 

C. To limit the size of the VRF table 

D. To limit connectivity to selected customer networks 
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E. To perform packet filtering 

Correct Answer: ABD 

 

QUESTION 5

An advantage of using BGP as the PE-CE protocol is that route policies are no longer required to control the exchange
of routes from BGP to MP-BGP. 

A. True 

B. False 

Correct Answer: B 
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